Summary
In his presentation, David Christian describes the evolution of space and humanity over the past 13.7 billion years. Development, proceeding from nothing to staggering complexity of the modern world. According to him, the complexity is created step by step by the so-called "goldilocks" conditions and threshold moments. But the key moment was the extinction of dinosaurs and the beginning of human evolution 65 million years ago. DNA has created complex organisms that have a rare brain gift and thus learning. In addition, thanks to their ability to speak, these organisms also have a communication system that allows to develop and increase collective memory. These organisms are humans. Christian believes that mankind's collective memory associated with the discovery and existence of fossil fuels explains the complexity of today's world. Our goal should then be to make future generations familiar with the great story of the history of the universe and of humanity, including all the pitfalls and benefits.	Comment by Dave: Here we miss a word and is a fragment by itself that needs to be continued or changed a bit – i.e. – Development proceeded from …	Comment by Dave: Here it sounds like you disagree with the presenter – he said goldilocks, but (I think) key moment was the … To make it sound like the extiction is one of those key thersholds you need to change it, for example – For humanity, the key moment…	Comment by Dave: are able to learn	Comment by Dave: avoid should and our here = personal pronoun not needed here and should sounds like telling people what to do (not in the good way) – The suggested goal therefore is to make future…
[bookmark: _GoBack]Excellent vocabulary and grammar, try using more linkers for easier connections between thoughts.
